Walmdach Kruppelwalm Pultdach
Yy = 48,749° Yy, = 68509° he = 3,088m
Yy = 41,2571 Yy = 21497 Lspsens 7.374m
gg = 6,504m 0, = 2,320m Loy = 271.491m
o = 19,320° a. = 25,366° A = 106,03m?
Lo = 6,892m Lg = 2,568m
Ay = 47,502m? Ay = 6,002m?
A, = 85,913m? Ay = 157,967rn§
_ 2 =
Ages = 133.475m Moes= 163.770m Satteldach
He = +2,329
He, = -0,52
ls;:,smf 7,473m
O Walmdach Kruppelwalm l[th - 28'100'-2
v, = 48,733 vy = 60,945° AT A
Yy = 41267° Yy = 29,055° A2 _ 17’1 36 1m2
g, = 7.277m 0, = 1544m Ges '
«, = 17,293 x, = 26,915°
- L, = 7.622m L, = 1.73Z2m
Ay = 58,068m? Ay = 2,929m?
Ay = 112,493m? Ay = 271,974m?2
Ao = 170,56 1m? A= 274,904m2
O Kombination Walmdach - Krippelwalm
Y, = 55989° Y, = 64,126° Ay = 33,03m?
Yy = 34017 Y, = 25.874° A= 3.452m?
g, = 7.4719m g, = 2.406m Ay = 162,293m?
a, = 24,678 X, = 26507 Ao 198,775m?
L, = 8,165m L. = 2,689m
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